Exam Date 01/08/2022
Exam Time 2:30 PM - 3:30 PM
Subject Selection Post Phase X Higher Secondary Level

Section : General Intelligence

Q.1Select the correct combination of mathematical signs to sequentially replace the *

signs and to balance the given equation.
20*4*10*5* 15=93

Ans KL= 4+ —

L2 K-+ +
K3 =+
X4+ + - X

Question ID : 2643305747
Status : 1 Answered
Chosen Option: 2

Q.2Dev pointed to a picture of an old lady and said, “She is the sister of my wife’s son’s
grandfather.” How is the old lady related to Dev?

Ans 1. Paternal aunt
& 2. Sister
< 3. Daughter
75 4. Maternal

aunt
Question ID : 2643305768

Status : 6 Answered
Chosen Option: 1

Q.3Which of the following letter-clusters will replace the question mark (?) in the given
series?
RI, YB, FU, MN, TG, ?

Ans ¥ 1. BY
X 2.BZ
X< 3. AY
W 4.AZ

Question ID : 2643305720
Status : 0 Answered
Chosen Option: 4




Q.4 Selec

a t the option that represents the correct order of the given words as they wouldppear in an English dictionary.
1. Machine

2. Macabre

3 Machinery

4 .. Macaroni

5. Machete

Ans 2 1.1,2,3,4,5
< 24,1523
+3.2,4,51,3
< 4.2,5,1,3,4

Question ID : 2643305788
Status : 0 Answered
Chosen Option: 3

Q.5Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related

to the third letter-cluster.

JUG : LSI:: WAX: YYZ:: POT:?

Ans 1. RMV
K 2. smv
£ 3. RMR
< 4.RQV

Question ID : 2643305724
Status : 2 Answered
Chosen Option: 1

Q.6In a code language, 'PRIZE' is written as RPZIF, and 'POWER' is written as OPEWS.
How will 'MONEY' be written in the same language?

Ans 1. OMENZ
£ 2. YENOM
< 3. OMNEY
< 4. OMENX

Question ID : 2643305775
Status : 7 Answered
Chosen Option: 1

Q.7Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related

to the third letter-cluster.

RAIN: UCJJ :: PIPE : SKQA :: HORN : ?

Ans X 1 EMQR
& 2. KQSJ
& 3.1PSO
£ 4.SLIM

Question ID : 2643305748
Status : 6 Answered
Chosen Option: 2




Q.8 Se

th lect the set in which the numbers are related in the same way as are the numbers ofe following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking

down the numbers into its constituent digits. E.g. 13 - Operations on 13 such as

a ding/deletin

a dg/multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3nd then performing mathematical operations on 1 and 3

(53,102, 151)
(74,123,172)

Ans 3¢ 1. (69, 119, 159)
7 2. (56, 105, 161)
o 3. (48,97, 146)
X 4.(84,57,190)

Question ID : 2643305752
Status : 0 Answered
Chosen Option :3

S

Q.9Select the correct option that indicates the arrangement of the following words in a
logical and meaningful order.

1. Country

2. Village

3. Taluka

4. State

5. District

ANs  #1.2,3,5 4,1
X 2.2541,3
X 3.3,21,45
X 4.2,1,4,3,5

Question ID : 2643306749
Status : 6 Answered
Chosen Option :1

Q.10Which of the following letter-clusters will replace the question mark (?) in the given
series?
EG, FF, HI, KH, OK, TJ, ?

Ans X 1. Y
X207l
X 3. AM
W 4.IM

Question ID : 2643305718
Status : 0 Answered
Chosen Option :4

Q.11In a certain code language, ‘'HAPPY' is written as JDPSA" and ‘DANCE’ is written as
‘FDNFG'. How will ‘CLASS’ be written in that language?

Ans X 1. EOEVU
75 2. EOAUU
& 3. EOAVU
5 4. EOAUV

Question ID : 2643305726
Status : 5 Answered
Chosen Option :3

not allow




Q12 Select the figure that will come next in the following figure series.

Ans

2@

Question ID : 2643305752

Status : 5 Answered
Chosen Option :3

Q.13In a code language, 'VEIN' is coded as XGKP and 'BONE' is coded as DQPG. How will
'CHIN' be coded in the same language?

Ans X 1. FKQ
X 2. EKJP
3. EKP
< 4.BLQ

Question ID : 2643305789

Status : 7 Answered
Chosen Option :3

Q.14In a code language, 'BLACK' is written as AALKC, and 'BROWN' is written as AORNW.
How will 'COLOR' be written in the same language?

Ans 1. BLORO
25 2. LOCRO
< 3. BOOLR
X 4.BOROL

Question ID : 2643305775

Status : 4 Answered
Chosen Option :1




Q.15 Whic
3 h of the following numbers will replace the question mark (?) in the given series?04, 261, 221, 184,?, 119

Ans X 1. 161
w2, 150
< 3,159
X 4.144

Question ID : 2643305754
Status : 6 Answered
Chosen Option: 2

Q.16Select the option that is related to the fifth term in the same way as the second term is
related to the first term and fourth term is related to third term.
UNLIKE : ENILKU :: FLOWER : RLWOEF :: CAVITY : ?

Ans X 1. YTVCAI
& 2. YTVICA
< 3. YTVIAC
« 4. YAIVTC

Q.17Three statements are given followed by three conclusions numbered I, Il and IlI.

Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the

statements.

Statements:

All nodes are joints.

Some joints are bones.

All bones are cartilages.

Conclusions:

I. No node is a bone.

II. All joints are cartilages.

Ill. Some cartilages are nodes.

Ans %" 1. None of the conclusions follow
#< 2. Only conclusion I follows
< 3. Only conclusions II and III

< follow 4. Only conclusions I and II

follow
Question ID : 2643305804
Status : 4 Answered

Chosen Option: 1

Q.18 Two dimensions of the same dice are given. What letter will be on the face opposite to the face having the letter D?

B C
p |[E)] A

Ans X 1.B
M2 E
3. C
X aF

Question ID : 2643305736
Status : 5 Answered
Chosen Option: 3




Q.19 Which of the option figures is the exact mirror image of the given problem figure when the mirror iz held at the right

B
o
: V1L ﬂgﬂ QE‘

A

- [ %%
AA

¥y,
(&

x 4. a(at) '{?@
AN

Question ID : 2643305738
Status : 5 Answered
Chosen Option: 1

Q.20In a certain code language, ‘BRING' is written as ‘XHQLS' and ‘EXTRA' is written as
‘UBFHY'. How will ‘GRAVY' be written in that language?

Ans & 1. SHYDC
¥ 2. SHYDA
#< 3. SHYEA
#< 4.SHADA

Question ID : 2643305727
Status : 3 Answered
Chosen Option: 2

Q.21In a certain code language, ‘EASTERN' is written as ‘GZUSGQP’ and ‘CULTURE!' is
written as ‘ETNSWQGC'. How will ‘CLASSES' be written in that language?

Ans X 1. EKCUUDU
#< 2. EKCRTDU
% 3. EKCRUDU
7< 4. EKCRRDU

Question ID : 2643305729
Status : 3 Answered
Chosen Option: 3




Q.22Select the option that is related to the fifth letter-cluster in the same way as the second
le tter-cluster is related to the first letter-cluster and the fourth letter-cluster is related

to the third letter-cluster.

NUCLEAR : DVOMSBF : WEAPONS : BFXQTOP : MISUSES : ?

Ans 1. TINVTFT
2. NITVTFT
# 3. TINUTGT
£ 4. TINWTFT

Question ID : 2643305725
Status : 4 Answered
Chosen Option: 1

Q.23In this question, three statements are given, followed by two conclusions numbered |

and Il. Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusion(s) logically follow(s) from the

statements.

Statements:

All bells are trees.

Some trees are leaves.

All leaves are flowers.

Conclusions:

I. All bells are leaves.

Il. Some flowers are trees.

Ans & 1. Neither conclusion I nor II
< follows. 2. Both conclusions I and II
2< follow.

«¥ 3. Only conclusion I follows.

4. Only conclusion II follows.
Question ID : 2643305783

Status : 6 Answered
Chosen Option: 4




Q.24 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown below.

"""" Y =] @

Ans

L |gw
(4 &

|8 &
(3 &3
|
(4 5

Question ID : 2643305741
Status : 2 Answered
Chosen Option: 1

Q.25Ais the brother of B. B is the son of C. D is the wife of C. E is the sister of D. How is A
related to E?

Ans X 1.Son
2. Sister’s son
#< 3.Brother
#5 4. Sister’s husband

Question ID : 2643305783
Status : 3 Answered
Chosen Option: 2

Section : English Language

Q.1Select the most appropriate option to substitute the underlined segment in the given
sentence.
Anyone reading theses lines will thought that the writer is very sad.

Ans . . ]
25 1. will have think that the writer

< is 2. have thinking that the writer
#< is 3. are think that the writer has

& 4. will think that the writer is

Question ID : 2643305598
Status : 4 Answered
Chosen Option: 4




Q25 elect the correct degree of comparison for the given sentence.

My new work is challenging and interesting.
Ans 1. My new work is challenge and interesting.

X 2. My new work is most challenging and most interesting.
#< 3. My new work is most challenging and interesting.

« 4. My new work is more challenging and more interesting.

Question ID : 2643305543
Status : 6 Answered
Chosen Option: 4

Q.3Select the option that expresses the given sentence in passive voice.
People say that she is a kind lady.
Ans X 1. 1tis said by people that she is a kind lady.

& 2. Itis said that she is a kind lady.

#% 3. It is claimed people that she is a kind

#< lady. 4. It was said that she is a kind lady.

Question ID : 2643305587
Status : 9 Answered
Chosen Option: 2

Q.4Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A.Ram was sitting on a tree and was eating an apple.

B.The monkey had thrown an apple at him.
C.While eating the apple, something hit his head.
D.He looked up to find a monkey sitting on a branch of the tree.

ANS 1. ACDB
2 2. ACBD
< 3. BCAD

7 4.CBDA

Question ID : 2643305597
Status : 4 Answered
Chosen Option: 1

Q.5Select the option that expresses the given sentence in indirect speech.

The swallow asked the skylark, “Will we be able to shift the eggs from this tree by
tomorrow?”
Ans 1 ffhe swallow asked the skylark whether they could be able to shift the eggs from this
tree by tomorrow.
2 Mhe swallow asked the skylark whether they would have been able to shift the eggs
from the tree by the next day.
3/ he swallow asked the skylark whether they will be able to shift the eggs from that
tree by the next day.
4.4e swallow asked the skylark whether they would be able to shift the eggs from that
tree by the next day.

Question D/ 2206061
Status :

7 4 Answered
Chosen Option : 4




Q.6 Int
a he following passage, some words have been deleted. Read the passage carefullynd select the most appropriate option to fill in each Blank.

Burkin once had a client who had a breast tumour that was not spotted until it had

a and she wanted to sue her internist for the delayed and waslso aware it was her who was potentially at fault.

Ans #< 1. metabolised, biopsy, nephrologist
~ 2. metaphorised, necropsy, cardiologist
< 3. metamorphosed, autopsy,

«” dermatologist 4. metastasized, diagnosis,

radiologist
Question ID : 2643305827

Status : 1 Answered
Chosen Option: 4

Q.7Select the most appropriate option to substitute the underlined segment in the given
sentence.

They made us to wait while they were checking our documents.

An
> < 1. make us wait

" 2. made us wait
X 3. make us to
5 waiting 4. made us

to waits
Question ID : 2643305598
Status : 5 Answered
Chosen Option : 2

Q.8Select the most appropriate meaning of the underlined word in a sentence.

She evinced little enthusiasm for the outdoor games.

Ans 1. showed

X 2. suppressed
x 3. pretended
< 4. observed

Question ID : 2643305599
Status : 8 Answered
Chosen Option: 1

Q.9Select the INCORRECTLY spelt word.
Ans X 1. Bailout

«” 2. Blackbroad
< 3. Jailor
25 4. Citizen

Question ID : 2643305545
Status : 9 Answered
Chosen Option : 2




Shubham Sir Maths

Q10 Select the most appropriate meaning of the underlined idiom.

He got a job in the Railways through the back door

ANs 1. Entered the office through the back entrance
< 2. Without appearing to others
#5 3. The main door is under repair

" 4. In an indirect or unfair way

Question ID : 2643306364
Status : 8 Answered
Chosen Option: 4

Q.11Select the most appropriate meaning of the underlined idiom in the given sentence.
I am of twg minds about whether | should go to the convention.
Ans X 1. holding a negative opinion

#5 2. holding a clear opinion

#5 3. holding a positive opinion

«¥ 4. holding conflicting opinions

Question ID : 2643305545
Status : 6 Answered
Chosen Option: 4

Q.12Select the option that expresses the given sentence in indirect speech.

My mother said to my sister, “Did you receive a mail from your teacher?”

Ans X 1. My mother said to my sister whether did she receive a mail from her teacher.
#< 2. My mother told my sister that did she receive a mail from her teacher.
< 3. My mother advised my sister if did she received a mail from her teacher.

« 4. My mother asked my sister if she had received a mail from her teacher.

Question ID : 2643307545
Status : 0 Answered
Chosen Option: 4

Q.13Select the most appropriate option to fill in the blanks.

The blue embroidered saree is no doubt an piece of handwork, but because
of its price no one was ready to buy it.

Ans X 1. erudite; enormous
< 2. extinct; ecstatic
o 3. exquisite;
#< exorbitant 4.

embellished; errant
Question ID : 2643306518

Status : 6 Answered
Chosen Option: 3




Q145 elect the option that expresses the given sentence in indirect speech.

“Has he come to office today?” You asked me.
ANs X 1. You asked me if he is coming to office today.

% 2. You asked me whether he had come to office that day.
5 3. You asked me whether he is in office today.

25 4.You asked me if he has come to office today.

Question ID : 2643305587
Status : 4 Answered
Chosen Option: 2

Q.15Select the most appropriate ANTONYM of the given word.

Zeal

Ans X 1. Allure
« 2. Apathy
x 3. Anger
< 4. Ardour

Question ID : 2643305831
Status : 8 Answered
Chosen Option: 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

@___ a bear encased in fatis avery messy job,andas1(2)____ back to the
Rest House for a hot bath and a late breakfast, Imetavery 3)____
whose headquarters were at Dabidhura. Being in urgent need of bear’s fat for his father, who
was (4)_________ with rheumatism, he was hurrying to try to get a share of the fat when he
ranintoaherdof (5)________ cattle, followed by a boy who informed him that a tiger had
killed one of his cows.

SubQuestion No : 16

Q.16Select the most appropriate option to fill in blank number 1.
Ans 1. Skinning

25 2. Skimming
x 3. Steaming
< 4. Stirring

Question ID : 2643306520
Status : 4 Answered
Chosen Option: 2




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

@)_________abearencasedinfatis avery messy job, and as I (2) back to the

Rest House for a hot bath and a late breakfast, Imetavery (3)_________ Forest Guard,
whose headquarters were at Dabidhura. Being in urgent need of bear’s fat for his father, who
was (4)_________ with rheumatism, he was hurrying to try to get a share of the fat when he
ranintoaherdof (5)________ cattle, followed by a boy who informed him that a tiger had
killed one of his cows.

SubQuestion No : 17
Q.17Select the most appropriate option to fill in blank number 2.
Ans X 1. fluttered

75 2. floated
4" 3. plodded
#< 4. pranced

Question ID : 2643306520
Status : 5 Answered
Chosen Option: 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

a bear encased in fat is a very messy job,andasI(2)___ back to the
Rest House for a hot bath and a late breakfast,I metavery (3)_________ Forest Guard,
whose headquarters were at Dabidhura. Being in urgent need of bear’s fat for his father, who
was (4)_________ withrheumatism, he was hurrying to try to get a share of the fat when he
ranintoaherdof (5)________ cattle, followed by a boy who informed him that a tiger had
killed one of his cows.

SubQuestion No : 18
Q.18Select the most appropriate option to fill in blank number 3.
Ans X 1. contented

75 2. abominable
#< 3. ecstatic

" 4. agitated

Question ID : 2643306520
Status : 6 Answered
Chosen Option: 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

a bear encased in fat is a very messy job,andasI(2)___ back to the
Rest House for a hot bath and a late breakfast,I metavery (3)_________ Forest Guard,
whose headquarters were at Dabidhura. Being in urgent need of bear’s fat for his father, who
was (4)_________ withrheumatism, he was hurrying to try to get a share of the fat when he
ranintoaherdof (5)________ cattle, followed by a boy who informed him that a tiger had
killed one of his cows.

SubQuestion No : 19
Q.19Select the most appropriate option to fill in blank number 4.
Ans X 1. endowed

< 2. equipped
#< 3.inclined
" 4. crippled

Question ID : 2643306520
Status : 7 Answered
Chosen Option: 1




%mprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

@)_________abearencasedinfatis avery messy job, and as I (2) back to the

Rest House for a hot bath and a late breakfast,I metavery (3)_________ Forest Guard,

whose headquarters were at Dabidhura. Being in urgent need of bear’s fat for his father, who
was (4)_________ with rheumatism, he was hurrying to try to get a share of the fat when he
ranintoaherd of (5)________ cattle, followed by a boy who informed him that a tiger had
killed one of his cows.

SubQuestion No : 20
Q.20Select the most appropriate option to fill in blank number 5.

Ans 1 listless
~ 2. stationary
~< 3. stagnant
o 4. stampeding

Question ID : 2643306520
Status : 8 Answered
Chosen Option: 4

Comprehension:

Read the given passage and answer the questions that follow.

‘War is what happens when words fail’ says Margaret Atwood. After war what remains is only
unimaginable damage. The innocent lives, livestock and property of citizens will be lost filling
every spot with bloodshed and misery. It takes decades to normalise the psychological terrors
of the victims of war. The consequences, in one form or the other, will bring bitterness even to
the rest of the world. So, it is the responsibility of a nation’s leader to protect his/her own
people from the bitter wars. Impactful leadership, commitment to provide peace and comfort
to the citizens, diplomatic strength and awareness of happenings around the world and
neighbourhood are essential to any nation’s leader. Nowadays, one who wins the battlefield is
not the winner, in fact he is the first loser. One who endeavours to prevent war is a real hero.
The nations of the modern world are in need of real heroes. So, the words ‘bravery’, ‘tactics’,
and ‘generalship’ should be used for those who sacrifice anything for protecting his nation,
other nations and mother earth from devastating results of war.

SubQuestion No : 21
Q.21In the given passage, ‘when words fail’ means:

Ans X 1. when a leader’s English skills are not good
" 2. when discussions are not fruitful
75 3.if a leader failed in a language paper during his education

#< 4. when severe words are not used in the argument




Comprehension:
Read the given passage and answer the questions that follow.

‘War is what happens when words fail’ says Margaret Atwood. After war what remains is only
u nimaginable damage. The innocent lives, livestock and property of citizens will be lost filling
every spot with bloodshed and misery. It takes decades to normalise the psychological terrors
of the victims of war. The consequences, in one form or the other, will bring bitterness even to
the rest of the world. So, it is the responsibility of a nation’s leader to protect his/her own
people from the bitter wars. Impactful leadership, commitment to provide peace and comfort
to the citizens, diplomatic strength and awareness of happenings around the world and
neighbourhood are essential to any nation’s leader. Nowadays, one who wins the battlefield is
not the winner, in fact he is the first loser. One who endeavours to prevent war is a real hero.
The nations of the modern world are in need of real heroes. So, the words ‘bravery’, ‘tactics’,
and ‘generalship’ should be used for those who sacrifice anything for protecting his nation,
other nations and mother earth from devastating results of war.

SubQuestion No : 22
Q.22Which of the following summarises the passage?

Ans X 1. Leadership is proved during war time.
~ 2. Weaponry should be prioritised.
~ 3. Physical loss is greater than psychological fears.

« 4. A warless world is peaceful.

Question ID : 2643306366
Status : 0 Answered
Chosen Option: 1

Comprehension:
Read the given passage and answer the questions that follow.

‘War is what happens when words fail’ says Margaret Atwood. After war what remains is only
unimaginable damage. The innocent lives, livestock and property of citizens will be lost filling
every spot with bloodshed and misery. It takes decades to normalise the psychological terrors
of the victims of war. The consequences, in one form or the other, will bring bitterness even to
the rest of the world. So, it is the responsibility of a nation’s leader to protect his/her own
people from the bitter wars. Impactful leadership, commitment to provide peace and comfort
to the citizens, diplomatic strength and awareness of happenings around the world and
neighbourhood are essential to any nation’s leader. Nowadays, one who wins the battlefield is
not the winner, in fact he is the first loser. One who endeavours to prevent war is a real hero.
The nations of the modern world are in need of real heroes. So, the words ‘bravery’, ‘tactics’,
and ‘generalship’ should be used for those who sacrifice anything for protecting his nation,
other nations and mother earth from devastating results of war.

SubQuestion No : 23
Q.23Select the ANTONYM of the word ‘endeavour’.

Ans " 1. Idleness
#< 2.Readiness
#< 3. Selflessness
#< 4. Effort

Question ID : 2643306365
Status : 7 Answered
Chosen Option: 1




%mprehension:
Read the given passage and answer the questions that follow.

‘War is what happens when words fail’ says Margaret Atwood. After war what remains is only

u nimaginable damage. The innocent lives, livestock and property of citizens will be lost filling
every spot with bloodshed and misery. It takes decades to normalise the psychological terrors
of the victims of war. The consequences, in one form or the other, will bring bitterness even to
the rest of the world. So, it is the responsibility of a nation’s leader to protect his/her own
people from the bitter wars. Impactful leadership, commitment to provide peace and comfort
to the citizens, diplomatic strength and awareness of happenings around the world and
neighbourhood are essential to any nation’s leader. Nowadays, one who wins the battlefield is
not the winner, in fact he is the first loser. One who endeavours to prevent war is a real hero.
The nations of the modern world are in need of real heroes. So, the words ‘bravery’, ‘tactics’,
and ‘generalship’ should be used for those who sacrifice anything for protecting his nation,
other nations and mother earth from devastating results of war.

SubQuestion No : 24
Q.24According to the passage, a nation’s hero is one who:

Ans

«" 1. prevents war
#< 2. uses battlefield tactics
75 3. shows warriorship in war

75 4.is the winner of war

Comprehension:
Read the given passage and answer the questions that follow.

‘War is what happens when words fail’ says Margaret Atwood. After war what remains is only
unimaginable damage. The innocent lives, livestock and property of citizens will be lost filling
every spot with bloodshed and misery. It takes decades to normalise the psychological terrors
of the victims of war. The consequences, in one form or the other, will bring bitterness even to
the rest of the world. So, it is the responsibility of a nation’s leader to protect his/her own
people from the bitter wars. Impactful leadership, commitment to provide peace and comfort
to the citizens, diplomatic strength and awareness of happenings around the world and
neighbourhood are essential to any nation’s leader. Nowadays, one who wins the battlefield is
not the winner, in fact he is the first loser. One who endeavours to prevent war is a real hero.
The nations of the modern world are in need of real heroes. So, the words ‘bravery’, ‘tactics’,
and ‘generalship’ should be used for those who sacrifice anything for protecting his nation,
other nations and mother earth from devastating results of war.

SubQuestion No : 25
Q.25Which of the following is NOT expressed by the writer in the passage?

Ans

#< 1. People lose lives in war.
75 2. The modern world needs heroes.
¥ 3. Sometimes war is essential.

#< 4. War damages the earth.

Question ID : 2643306365

Status : 9 Answered

Chosen Option: 3

Section : Quantitative Aptitude

Q.1TA number is divided by 49 leaves a remainder 9. If the same number is divided by 7,
then the remainder will be:

Ans

<10
<23
<31
4.2

Question ID : 2643306106

Status : 0 Answered

Chosen Option: 4




Q-2F ind the value of 133 + (-8)3 + (-5)3.
Ans X 1.1052

< 2.1152
< 3.1562
o 4.1560

Question ID : 2643306137
Status : 6 Answered
Chosen Option: 4

Q3 Tne following table gives the number of patients visiting a dental clinic for the issues related to their oral health during

the months September, October, November and December 2018, Study the table carefully and answer the question that follows,

Mounth Filling Root canal | Tooth Implants
(2018) extraction

September | 180 480 570 260
October 560 770 620 470
Movember | 940 1030 820 220
Devember | 520 590 530 1040

What is the ratio of the tofal number of patients in Seplember fo the toial number of patients in December in 20187

Ans X 1.3:4
W2 1:2
X3.2:1
X 4.4:3

Question ID : 2643306324
Status : 9 Answered
Chosen Option: 2

Q.4The sum of two numbers is 19, while the difference between the two numbers is 3.
Find the smaller number out of these two numbers.

Ans X 1.
< 11
K2 7
3.9

4.8

Question ID : 2643305882
Status : 7 Answered
Chosen Option: 4

Q.5 A person borrowed some money on simple interest. After 5 vears he remumed E of the money to the lender. What was

the rate of interest?
Ans X 1.9% p.a.

X 2.6% p.a.
X 3. 4% pa.
" 4.8%p.a.

Question ID : 2643305868
Status : 0 Answered
Chosen Option: 4




Q6 Iftan 38 = cot(f — 22°). where 38 is an acute angle, find the value of 6.
Ans X 1.26°
X 2.29°

3. 28°
~4.27°

Question ID : 2643305635
Status : 9 Answered
Chosen Option: 3

Q.7In an election there were two candidates Ram Singh and Sohan Lal. The total no. of
voters in the constituency was 80000 and 80% of the total votes were polled.
If 60% of the polled votes were cast in favour of Ram Singh, how many votes were
received by Sohan Lal?

Ans X 1.28000
< 2.38400
« 3. 25600
£ 4.26700

Question ID : 2643306635
Status : 5 Answered
Chosen Option: 3

Q.8By what percentage 74% of 1894 is more than 39% of the same number (correct to two
decimal places).

Ans X 1.79.65%
K 2.76.65%
¥ 3.89.74%
< 4.83.53%

Question ID : 2643306377
Status : 4 Answered
Chosen Option: 3

Q.9Rahul runs at a speed of 6 km/h in a 100-metre race. Rahul gives Bharat a start of 4
metres and still beats him by 4 seconds. Find Bharat's speed.

Ans X 1.4.5km/h
X 2.49km/h
" 3.5.4 km/h
& 4.5.8km/h

Question ID : 2643306529
Status : 7 Answered
Chosen Option: 3




Ans

a school.
Class Boys Girls
Cl 25 25
c2 30 20
C3 15 25
4 28 32
Cc5 26 24

The number of boys in C5 is approximately what percent of the average number of girls per class?

< 1.111.23%
< 2.91.86%
< 3.98.67%
¥ 4.103.17%

Q.10 The following table shows the number of boys and the mumber of girls in 5 different classes, C1 to C5, of

Question ID : 2643306493
Status : 7 Answered
Chosen Option: 4

Ans

< 1. 10% profit
< 2.5% loss

" 3. 20% profit
2 4. 25% profit

Q.11A seller sells two shirts for Rs.3,360. The cost of four such shirts for the shopkeeper
was Rs.5,600. What is the profit/loss percentage on each shirt?

Question ID : 2643305821
Status : 1 Answered
Chosen Option: 3

Ans

< 1.%125
< 2.3500
« 3.3250
X 4.3300

Q.12The marked price of a TV is €50,000. The difference between a discount of 30% and
two successive discounts of 25% and 6% on this deal is:

Question ID : 2643306263
Status : 7 Answered
Chosen Option: 3

Ans

X 1.3%
X 2. 4%
3. 5%
X 4.6%

Q.13Sohan buys an old car for ¥2,47,000 and spends 18,000 on its repairs. If he sells the
car for 2,78,250, his profit percentage is:

Question ID : 2643305866
Status : 7 Answered
Chosen Option: 3




Q.14Atul walks 4 km at a speed of 2 km/h, run
fo s 10 km at a speed of 6 km/h and goes by busr another 45 km. The speed of the bus is 30 km/h. Find the average speed of Atul.

o0 112 kmyn
31

X2 11% km/h
s 125 km/h

%2122 kmyn
14

Question ID : 2643305633
Status : 0 Answered
Chosen Option: 1

15 "
Q If§=§= 5=&:+55,th6ﬂﬂndthevaluecfk.

Ans 115
< 218
X< 3.10
F )

Question ID : 2643305687
Status : 5 Answered
Chosen Option : 1

Q.16A class of 68 students made a mean score of 60 marks and another class of 32
students made it exactly 52.5. What is the overall mean score?

Ans X 1. 535
X 2. 562
< 3. 543
W 4.57.6

Question ID : 2643306112
Status : 6 Answered

Chosen Option: 4

Q.17The mean proportion between 5 and 125 is:
Ans 1. 25

x 2.
X 48
X 3.65

4.60
Question ID : 2643305813

Status : 9 Answered
Chosen Option: 1




Q.18 Study the given table and answer the question that follows.
The table shows the total number of batteries sold by a company (in lakhs) over the years.

TYPES OF BATTERIES
Year 4AH TAH 32AH 35AH 55AH Total
1992 75 144 114 102 108 543
1993 a0 126 102 84 126 528
1994 96 114 75 105 135 525
1995 105 90 150 90 75 510
1996 a0 75 135 75 90 465
1997 105 80 165 45 120 495
1998 115 85 160 100 145 605

From 1992 to 1997, which battery saw a steady decline in sales?
Ans ¥ 1.35AH

& 2.4AH

# 3.32 AH

W 4.7AH

Question ID : 2643306530
Status : 1 Answered
Chosen Option: 4

Q.19If the sum of two numbers is 126 and their HCF and LCM are 7 and 180, respectively,
then the sum of the reciprocals of the two numbers is:

Ans i
Ki1—

o2 —

x 3.

< a4

Question ID : 2643305865
Status : 1 Answered
Chosen Option: 2

Q.20A alone can complete a work in 18 days and B alone in 14 days. Starting with A, they
work on alternate days. The total work will be completed in:

Ane X1 13 g days
2 15 g days
X3 16 g days
Xa 14 g days

Question ID : 2643305869
Status : 1 Answered
Chosen Option: 2




Q.21A,Ba
T nd C can complete a piece of work in 3 days, 4 days and 6 days, respectively.hey get Rs.432 for completing the job. If A, B and C work tpgether t
job, A's share is:

Ans 1 Rs.72
¥ 2. Rs.192
# 3. Rs.108
X 4.Rs.144

Question ID : 2643305815
Status : 3 Answered
Chosen Option: 2

Q.22Given that triangle ABC is congruent to triangle DEF. If AC=11m, ED = 6m, EF = 15m,
£ FDE=85° and £ZABG = 55°,then the perimeter of triangle ABC and £EFD are,
respectively:

Ans X 1.32m, 45°
«2.32m, 40°
< 3.30m, 50°
< 4.35m, 45°

Question ID : 2643306117
Status : 6 Answered
Chosen Option: 2

Q.23For the past five months, a merchant has made sales of Rs.6,435, Rs.6,927, Rs.6,855,
Rs.7,230 and Rs.6,562. What amount of sales does he need in the sixth month to
achieve an average sale of Rs.6,500?

Ans X 1. Rs.4,781
W 2. Rs.4,991
# 3. Rs.4,810
# 4.Rs.5,021

Question ID : 2643305711
Status : 7 Answered
Chosen Option: 2




Q.24 Inthe given figure, *O" is the centre of the circle and ZBCA = 50°. The value of ZBDA is:
B

7

C - A

&

Ans X 1.60°
< 2.90°
&< 3.40°
W 4.50°

Question ID : 2643305843
Status : 0 Answered
Chosen Option: 4

Q.25The volumes of two cubes are in the ratio of 8 : 27. If the volume of the larger cube is

513 cm3 more than that of the smaller cube,find the length of each side of the smaller
cube.

Ans X 1.27cm
X 2.7cm
¥ 3.6cm
K 4.16cm

Question ID : 2643306174
Status : 4 Answered
Chosen Option: 3

Section : General Awareness

Q.1Propane and butane are the main components of which of the following gases?
Ans 1. LNG

X 2. LMG
X 3. CNG
o 4.LPG

Question ID : 2643305490
Status : 7 Answered
Chosen Option: 4




Q.2In which distri
e ct of Maharashtra is Ralegan Siddhi, a small village that has become anxample for watershed development, situated?

Ans ¥ 1. Yavatmal

# 2. Nashik

¥ 3. Ahmednagar
< 4.Pune

Question ID : 2643305497
Status : 1 Answered
Chosen Option: 3

Q.3Maharana Pratap, a contemporary of Akbar, was a ruler of which of the following
kingdoms?
Ans X 1. Jodhpur

2 2. Merta
« 3. Mewar
2 4. Marwar

Question ID : 2643305561
Status : 5 Answered
Chosen Option: 3

Q.4Who was hailed as the ‘Tansen of the 20th century?
Ans X 1. Ustad Abdul Karim Khan

< 2. Ustad Faiyaz Khan
75 3. Ustad Amir Khan
«” 4. Ustad Bade Ghulam Ali Khan

Question ID : 2643305488
Status : 5 Answered
Chosen Option: 4

Q.5Who laid the foundation stone of the National Forensic Science University in Tripura in
March 20227

Ans & 1. Amit Shah
5 2. Ram Nath Kovind
#% 3. Narendra Modi
#< 4. Biplab Kumar Deb

Question ID : 2643305504
Status : 8 Answered
Chosen Option: 3

Q.6The natural growth rate of a population is analysed by which of the following factors?

Ans & 1. Crude birth and death rates
5 2. Infant mortality and death rate
< 3. Sex ratio and birth rate

75 4. Maternal mortality and birth rate

Question ID : 2643305533
Status : 0 Answered
Chosen Option: 1




Q.7 Wh
in ich of the following Committees recommended to incorporate Fundamental Duties the Constitution of India?

Ans 1. Swaran Singh Committee
< 2. Kelkar Committee
< 3.Verma Committee

25 4. Balwant Mehta Committee

Question ID : 2643305489
Status : 3 Answered
Chosen Option: 1

Q.8In which of the following places did the first session of the Indian National Congress
take place?

Ans X 1. Lahore
« 2. Bombay
/< 3. Calcutta
< 4. Lucknow

Question ID : 2643305562
Status : 6 Answered
Chosen Option: 3

Q.9Radhe Shyam Barle, the notable dancer from Durg, was awarded the Padma Shri
Award in 2021 for which of the following dance forms?

Ans X 1.SuaNacha
< 2. Karma dance
«" 3. Panthi
< 4. Pandavani

Question ID : 26433064638
Status : Not Answered
Chosen Option : --

Q.10In which water body do several Himalayan tributaries like Shyok, Gilgit, Shigar,
Gasting and Dras meet and finally emerge from the hills near Attock where it receives
the Kabul River?

Ans X 1. Brahmaputra river system
5 2. Godavari river system
«” 3. Indus river system

% 4. Mahanadi river system

Question ID : 2643305516
Status : 4 Answered
Chosen Option: 3

Q.11Which Article of the Constitution of India declares that the seat of Supreme Court is in
Delhi?

Ans X 1. Article 131
« 2. Article 130
< 3. Article 132
5 4. Article 129

Question ID : 2643306472
Status : 0 Answered
Chosen Option: 2




Q12w hich state in India has the highest population density according to the 2011 Census?
Ans &1 Bihar

< 2. Uttar Pradesh
< 3. West Bengal
X 4.Kerala

Question ID : 2643306720
Status : 0 Answered
Chosen Option: 1

Q.13In December 2021, which of the following ministries tabled the draft Mediation Bill in
Parliament?

Ans X 1. Ministry of Labour and Employment
x 2. Ministry of Education
«” 3. Ministry of Law and Justice

© 4. Ministry of Skill Development and Entrepreneurship

Question ID : 2643305482
Status : 8 Answered
Chosen Option: 4

Q.14The Vimana in the Dravidian style of temple architecture is usually in which shape?
Ans X 1. Semi-Circular

2. Cylindrical
« 3. Pyramidal
< 4 Rectangular

Question ID : 2643305488
Status : 2 Answered
Chosen Option: 3

Q.15The pact signed between the Indian National Congress and All India Muslim League in
1916 is called as

Ans X 1.Poona Pact
2. Lucknow Pact
< 3. Kanpur Pact
#5 4. Lahore Pact

Question ID : 2643305563
Status : 3 Answered
Chosen Option: 2

Q.16At what temperature is milk boiled for 15 to 30 seconds in the pasteurisation process?
Ans ¥ 1.80°C

W2 .72°C
2 3.45°¢C
X< 4.60°C

Question ID : 2643305580
Status : 7 Answered
Chosen Option: 2




Q17T rump’ is a sports term used in
Ans X 1. Cycling

«" 2. Bridge
3. Cricket
< 4. Snooker
Question ID : 26433054861
Status : Not Answered
Chosen Option: --
Q.18 in Bihar was the capital of Magadha for several years. Later the capital

was shifted to Pataliputra (present-day Patna).
Ans X 1. Lumbini

#< 2. Kalinga
5 3. Mathura
& 4. Rajagriha

Question ID : 2643305499
Status : 9 Answered
Chosen Option: 4

Q.19Tess of the d'Urbervilles’ was written by:
Ans X 1. Charles Dickens

75 2. DH Lawrence
< 3.Leo Tolstoy
« 4. Thomas Hardy

Question ID : 26433064632
Status : Not Answered
Chosen Option: --

Q.20Padma Vibhushan awardee, Pandit Birju Maharaj was a dancer of India.
Ans X 1, Kathakali

< 2. Manipuri
75 3. Bharatanatyam
o 4. Kathak

Question ID : 2643306430
Status : 2 Answered
Chosen Option: 4

Q.21Which of the following vitamins is ABSENT in egg?
Ans X 1. Vitamin B

< 2. Vitamin A
& 3. Vitamin C
2 4. Vitamin K

Question ID : 2643306445
Status : 3 Answered
Chosen Option: 3




Q22 aru Kaj' is a festival primarily celebrated by the Gonds of
Ans 1. Madhya Pradesh

25 2.Goa
25 3. Sikkim
X a. Rajasthan

Question ID : 26433064314
Status : Not Answered
Chosen Option: --

Q.23Arrange the following rivers as they occur in the North-South direction in India.
Beas, Indus, Chenab, Satluj, Ravi

Ans X 1. Satluj, Indus, Chenab, Ravi, Beas
< 2. Indus, Ravi, Beas, Chenab, Satluj
x 3. Satluj, Ravi, Indus, Chenab, Beas

«” 4. Indus, Chenab, Ravi, Beas, Satluj

Question ID : 2643305495
Status : 8 Answered
Chosen Option: 4

Q.24Sultan lltutmish introduced a metal coin named Jital which was made of:
Ans X 1.gold

« 2. copper

#< 3. bronze

5 4. silver

Question ID : 2643306460
Status : 3 Answered
Chosen Option: 4

Q.25A nominated member of a House shall be disqualified for being a member of the

House if he joins any political party after the expiry of from the date on
which he takes his seat.
Ans X 1. three

" months 2. six
25 months
< 3. one year

4. one month
Question ID : 26433055024

Status : Not Answered
Chosen Option: --




